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1. Consider the following liquid assets:
1. Demand deposits with the banks
2. Time deposits with the banks
3. Savings deposits with the banks
4. Currency
The correct sequence of these assets in decreasing
order of liquidity is
(a) 1-4-3-2 (b) 4-3-2-1
(c) 2-3-1-4 (d) 4-1-3-2

2. When the Reserve Bank of India announces an
increase of the Cash Reserve Rate, what does it
mean?
(a) The commercial banks will have less money to lend
(b) The Reserve Bank of India will have less money

to lend
(c) The Union Government will have less money to

lend
(d) The commercial banks will have more money to

lend
3. Which of the following is not included in the assets

of a commercial bank in India?
(a) Advances
(b) Deposits
(c) Investments
(d) Money at call and short notice

4. Which of the following measures would result in
an increase in the money supply in the economy?
1. Purchase of government securities from the public

by the Central Bank
2. Deposit of currency in commercial banks by the

public
3. Borrowing by the government from the Central

Bank
4. Sale of government securities to the public by the

Central Bank
Select the correct answer using the codes given below:
(a) 1 only (b) 2 and 4 only
(c) 1 and 3 (d) 2, 3 and 4

5. Consider the following:
1. Currency with the public
2. Demand deposits with banks
3. Other Deposits with RBI
4. Time deposits with banks
Which of these are included in Broad Money (M3)
(a) 1 and 2 (b) 1 and 4
(c) 2 and 3 (d) 1, 2,3 and 4
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6. Following are some components of money supply
in India:
1. Currency with the public
2. Aggregate demand deposits with banks
3. Aggregate time deposits with banks
4. ‘Other’ deposits with the Reserve Bank of India
Which of the aforesaid items are components of narrow
money (M1) in India?
(a) 1, 2 and 3 (b) 2 and 4 only
(c) 1, 2 and 4 (d) 1and 4 only

7. The money multiplier in an economy increases with
which one of the following?
(a) Increase in the cash reserve ratio
(b) Increase in the banking habit of the population
(c) Increase in the statutory liquidity ratio
(d) Increase in the population of the country

8. An increase in the Bank Rate generally indicates
that
(a) Market rate of interest is likely to fall.
(b) Central Bank is no longer making loans to

commercial banks.
(c) Central Bank is following an easy money policy.
(d) Central Bank is following a tight money policy.

9. Consider the following:
 1. Bank rate

2. Open market operations
3. Public debt
4. Public Revenue
Which of them is/are part of Monetary Policy?
(a) 1 only (b) 2, 3 and 4
(c) 1 and 2 (d) 1, 3 and 4

10. Note issuing department of RBI should always
possess a minimum gold stock worth
(a) Rs. 85 crores (b) Rs. 115 crores
(c) Rs. 200 crores (d) None of the above
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